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84 64691
44 TfRE| ERE % i S 51302stkeketokiek0098 60 1 754
45 | hfRsrE] BRAE Ak 3 Sk HE 51302kttt 0558 67 1 754
46 | RS E BRI 5 SR EE 51302kttt 0557 57 1 754
47 | hfRsr B A 3B SR HE 51302kttt 0552 53 1 754
48 | FfRsE LR 5 X EE 51302kt 0553 60 1 754
49 | hfRA#EE| HkE % Xk S 51302kttt 0557 67 1 754
50 T PR ER | AT B 5 ik IS 51302sksksktk3k0575 61 1 754
51 TfRorik| e rw 5 Sk HE 51302kttt 0559 78 1 754
52 TR EL A 5 ik IS 51302sksskskskx055 | 75 1 754
53 | HAR B MG % pEl 51302kt 0555 84 1 754
54 | hfRorER| P A 5 X EE 51302skksktokik055X 79 1 754
55 | RSB AT 3 ik S 51302kt 0558 73 1 754
56 RS ER | BRI 5 ik S 51302kt 0553 74 1 754
57 | hifRor#k| JHIES 3 Xk HE 51302kttt 0554 73 1 754
58 TR E| R 5 ik IS 51302s%ksksktok3k0553 76 1 754
59 | HR B FMAR % Xk S 5130 2skkstcketekeieck055 1 58 1 754
60 T fRorER ] BTk 5 ik S 51302%kkkkk4%0577 78 1 754
61 FfRE] X 3 Sk HE 51302kttt 0559 59 1 754
63 hfRori| FIEH 5 ik IS 513023kt 0557 75 1 754
64 | HfRHE] RIE%E % Xk S 51302kt 0558 55 1 754
66 | AfRoER| x4 5 i IS 51302skksktek0573 54 1 754
67 | IR B kSR 3 ik S 51302kt 8970 83 1 754
69 TR EL | Kot 5 ik S 513028530036 62 1 754
70 | RARSE] MRS % SR HE 5130 2skkstekedokeieck065X 66 1 754
71 AR B ey & ik IS 51302kt 0628 74 1 754
72 | BRSO B e % X B 5130 2skkscketeorteok0653 76 1 754
74 | AfRHER| FEIEY) 5 SR ER 51302skkskkekk0652 76 1 754
75 | KRS TS 5 Sk HE 513005kttt 0612 69 1 754
76 TR ER| T4 5 ik S 51300kt 06 1 7 87 1 754
T | ARG AT % X S 513005kt 0612 71 1 754
78 TR E| H% 5 % i IS 51302sictetokk 045X 75 1 754
79 | BARSER] IR 5y ik S 51302kttt 0467 77 1 754
80 T ORoER | AT M4 5 ik Bl 51302sksksktoktk0457 67 1 754
81 TRk A48 3B ik S 51302kttt 0455 79 1 754
83 AR AEEE 4 ik B 51302s%ksksktoktk0443 71 1 754
84 | HfR#] HEE 5’y Xk S 51302kt 0445 83 1 754
85 | AfRArER| Xihngs 5 SR ER 51302skksktokkk0652 63 1 754
86 | FifRArER| Xk 3 Sk HE 51302kttt 0558 55 1 754
87 | HEARNE] BE#®K 5 SRR 51302kttt 0550 67 1 754
88 TR T % kBl 51302kttt 0654 57 1 754
89 | HAfRu#r| FHIEE 5 X EE 51302skksktokk055X 60 1 754
90 | hifRor#R| BRiEEE 5 ik S 5130 2skksekedeottok0655 74 1 754
92 | hfRm#] FHE & ik S 5130 2skksteketeotsiek 0544 80 1 754
93 | HfR B BRoei 5y ik S 5130 2skksketottok0566 53 1 754
94 hfR B Fak 5 i IS 51302055 | 60 1 754
95 | HfRorE] FHise % pEl 5130 2skkseketeook0552 60 1 754
96 | AfRorBr| R4 3 SR ER 51302kt 0677 61 1 754
97 | hfRm | P& 5 Sk HE 5130 2skkskoteotetok 0672 70 1 754
98 RS ER | S R 5 i S 51302skskskskkk4057 4 67 1 754
99 TRtk FELE 5 ik Bl 51302skskstektek0555 54 1 754
100 | FfRorEr| #R4E % ik B 513023k 8830656 67 1 754
101 [HASHEL] AP 5 ik B 5130 2kksketook0652 70 1 754
102 | hfRorik| e 5 i S 51302kt 0456 62 1 754
104 | hfRor k| &% % Xk HE 51302kttt 0654 59 1 754
105 |[HESE] 82 54 ik IS 51302kttt 0628 71 1 754




106 | AR ER| A 5 SR HE 5130 2skkstcketokeiek065X 62 1 754
108 | ifRorEr| 75 5 i IS 51302skksksktoktk0452 75 1 754
109 | R ER] SBIEE % Xk S 51302kttt 0457 79 1 754
110 | FfRoEr| ftE 5 i S 51302skkskk4k0578 71 1 754
111 | iRk SRR 3 Sk HE 5130 2skkstcketekeieck369 1 62 1 754
112 |[HESHE] fEH 5 SR EE 51302kttt 0557 78 1 754
114 [HRSHE] BRIE 3B SR HE 51302kttt 0453 70 1 754
115 [ HAESE] R & ik IS 51302kttt 0045 78 1 754
116 | fRorik] e % Xk S 5130 2skksteketokeiek047X 66 1 754
117 | RfREk] skscie 5 ik IS 513008455061 X 68 1 754
118 | fRsrik| fALNI 5 Sk HE 51302kttt 0458 65 1 754
119 [HESHE] A 5 ik IS 513023kt 0456 76 1 754
120 | hfRoEk| REEE % pEl 51302kttt 0452 68 1 754
124 | H{RE] e % X EE 51300kksktokiek0614 64 1 754
125 | hifRori] Xi4lgs 7 it B 51302skkkokokkk0528 78 1 754
126 | HERSHR] HE 4 5 ik S 5130 2skkskekoktok 0656 63 1 754
127 | hfRo k| HAH % Xk HE 51302kttt 0554 63 1 754
128 | H{RrHR| Bl 5 ik S 5130 2skkskkkokkok 0552 65 1 754
129 | H{RSH| BRIEX % X B 51302kt 0558 63 1 754
132 |[FAfrod] e 5 ik Bl 51303 %kt x% 2812 74 1 754
134 | FfRER] TS0 5’y Sk HE 513005kttt 0649 53 1 754
135 | fRarEr| BIERR 5 X EE 51302kttt 0597 61 1 754
145 | HfRH] FRH % pE 51302kt 4912 61 1 754
146 | TR ER| FBELE % X EE 51302skkskt4k0558 61 1 754
2 MWE=TA| BT 3 ik S 5120 2skksiketeteok 7139 52 1 1025
3 MBE=FEA| s 5 ik S 51052kt 4 714 54 1 1025
4 PETA| EKEET 3B ik S 51023kt 3915 67 1 1025
5  ME=TA| A% & ik IS 510225kt 8768 82 1 1025
6 ME=TCA| Bifg 5’y X B 51302kttt 0527 44 1 1025




